
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Negatieve exponenten van 10

10 =(−3) 792, 8 ÷ 10 =2

603, 5 ÷ 10 =(−3) 10 =(−3)

8 × 10 =(−1) 10 =(−4)

10 =(−1) 9 × 10 =

273 ÷ 10 =(−1) 7 × 10 =2

10 =(−3) 10 =(−2)

10 =(−4) 606, 6 × 10 =(−4)

10 =(−2) 878, 7 ÷ 10 =(−4)

402, 9 × 10 =(−3) 387, 1 ÷ 10 =(−3)

10 =(−3) 567, 4 × 10 =(−1)
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Negatieve exponenten van 10

10 = 0.001(−3) 792, 8 ÷ 10 = 7.9282

603, 5 ÷ 10 = 603500(−3) 10 = 0.001(−3)

8 × 10 = 0.8(−1) 10 = 0.0001(−4)

10 = 0.1(−1) 9 × 10 = 90

273 ÷ 10 = 2730(−1) 7 × 10 = 7002

10 = 0.001(−3) 10 = 0.01(−2)

10 = 0.0001(−4) 606, 6 × 10 = 0.06066(−4)

10 = 0.01(−2) 878, 7 ÷ 10 = 8787000(−4)

402, 9 × 10 = 0.4029(−3) 387, 1 ÷ 10 = 387100(−3)

10 = 0.001(−3) 567, 4 × 10 = 56.74(−1)
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